# DEGENERATE ORDERED BELL NUMBERS AND POLYNOMIALS

#### TAEKYUN KIM

ABSTRACT. In this paper, we study degenerate ordered Bell numbers and polynomials. In addition, we give some identities of these numbers and polynomials which are derived from the generating function.

### 1. Introduction

For  $w(\neq 1) \in \mathbb{C}$ , Apostol-Bernoulli polynomials are defined by the generating function to be

$$\frac{t}{we^t - 1}e^{xt} = \sum_{n=0}^{\infty} B_{n,w}(x)\frac{t^n}{n!}, \quad (\text{see } [4, 9, 12]). \tag{1.1}$$

When x=0,  $B_{n,w}=B_{n,w}(0)$  are called Apostol-Bernoulli numbers. Note that  $B_{0,w}=0$ .

In [1,5,6], L. Carlitz considered degenerate Bernoulli polynomials which are given by the generating function to be

$$\frac{t}{(1+\lambda t)^{1/\lambda}-1}(1+\lambda t)^{\frac{x}{\lambda}} = \sum_{n=0}^{\infty} \beta_{n,\lambda}(x) \frac{t^n}{n!}, \quad (\lambda \in \mathbb{R}).$$
 (1.2)

Note that  $\lim_{\lambda\to 0} \beta_{n,\lambda}(x) = B_n(x)$ ,  $(n \ge 0)$ , where  $B_n(x)$  are the ordinary Bernoulli polynomials.

Now, we consider degenerate Apostol-Bernoulli polynomials which are defined by the generating function to be

$$\frac{t}{w(1+\lambda t)^{1/\lambda} - 1} (1+\lambda t)^{\frac{x}{\lambda}} = \sum_{n=0}^{\infty} \beta_{n,\lambda,w}(x) \frac{t^n}{n!}.$$
 (1.3)

When x=0,  $\beta_{n,\lambda,w}=\beta_{n,\lambda,w}(0)$  are called the degenerate Apostol-Bernoulli numbers. Note that  $\lim_{\lambda\to 0}\beta_{n,\lambda,w}(x)=B_{n,w}(x)$ ,  $(n\geq 0)$ .

<sup>2010</sup> Mathematics Subject Classification. 11B68; 11S80.

 $Key\ words\ and\ phrases.$  Degenerate ordered Bell numbers and polynomials.

As is known, ordered Bell numbers are given by the generating function to be

$$\frac{1}{2 - e^t} = \sum_{n=0}^{\infty} b_n \frac{t^n}{n!}, \quad (\text{see } [2, 3, 8]). \tag{1.4}$$

Thus, by (1.4), we get

$$b_n = \sum_{m=0}^{n} m! S_2(n, m), \ (n \ge 0), \quad (\text{see } [2, 3, 8]), \tag{1.5}$$

where  $S_2(n, m)$  is the stirling number of the second kind.

The ordered Bell polynomials are defined by the generating function to be

$$\frac{1}{2 - e^t} e^{xt} = \sum_{n=0}^{\infty} b_n(x) \frac{t^n}{n!}, \quad \text{(see [8])}.$$

From (1.4) and (1.6), we have

$$b_n(x) = \sum_{l=0}^{n} \binom{n}{l} b_l x^{n-l}, \ (n \ge 0).$$
 (1.7)

Thus by (1.7), we see that  $b_n(x)$  are Appell sequences for  $(2 - e^t, t)$ .

In this paper, we consider the degenerate ordered Bell numbers and polynomials which are given by the generating functions. In addition, we derive some explicit identities of those numbers and polynomials which are derived from the generating functions.

## 2. Degenerate ordered Bell numbers and polynomials

For  $\lambda \in \mathbb{R}$ , we consider the degenerate ordered Bell polynomials which are given by the generating function to be

$$\frac{1}{2 - (1 + \lambda t)^{1/\lambda}} (1 + \lambda t)^{\frac{x}{\lambda}} = \sum_{n=0}^{\infty} b_{n,\lambda}(x) \frac{t^n}{n!}.$$
 (2.1)

When x = 0,  $b_{n,\lambda} = b_{n,\lambda}(0)$  are called the degenerate ordered Bell numbers. It is not difficult to show that  $\lim_{\lambda \to 0} b_{n,\lambda} = b_n(x)$ ,  $(n \ge 0)$ . From (2.1), we note

that

$$\frac{1}{2 - (1 + \lambda t)^{1/\lambda}} (1 + \lambda t)^{\frac{x}{\lambda}} = \left( \sum_{l=0}^{\infty} b_{l,\lambda} \frac{t^{l}}{l!} \right) \left( \sum_{m=0}^{\infty} \left( \frac{x}{\lambda} \right) \lambda^{m} t^{m} \right) \\
= \left( \sum_{l=0}^{\infty} b_{l,\lambda} \frac{t^{l}}{l!} \right) \left( \sum_{m=0}^{\infty} (x|\lambda)_{m} \frac{t^{m}}{m!} \right) \\
= \sum_{n=0}^{\infty} \left( \sum_{l=0}^{n} \binom{n}{l} b_{l,\lambda} (x|\lambda)_{n-l} \right) \frac{t^{n}}{n!}, \tag{2.2}$$

where  $(x|\lambda)_n = x(x-\lambda)(x-2\lambda)\cdots(x-(n-1)\lambda)$ ,  $(n \ge 1)$ ,  $(x|\lambda)_0 = 1$ . Therefore, by (2.1) and (2.2), we obtain the following theorem.

**Theorem 2.1.** For  $n \geq 0$ , we have

$$b_{n,\lambda}(x) = \sum_{l=0}^{n} \binom{n}{l} b_{l,\lambda}(x|\lambda)_{n-l}$$
$$= \sum_{l=0}^{n} \binom{n}{l} (x|\lambda)_{l} b_{n-l,\lambda}$$

where  $(x|\lambda)_0 = 1$ ,  $(x|\lambda)_n = x(x-\lambda)(x-2\lambda)\cdots(x-(n-1)\lambda)$ ,  $(n \ge 1)$ .

Now, we observe that

$$\frac{1}{2 - (1 + \lambda t)^{1/\lambda}} = \frac{1}{1 - \left( (1 + \lambda t)^{1/\lambda} - 1 \right)} = \sum_{n=0}^{\infty} \left( (1 + \lambda t)^{1/\lambda} - 1 \right)^{n}$$

$$= \sum_{n=0}^{\infty} n! \sum_{m=n}^{\infty} S_{2}(m, n) \lambda^{-m} \left( \log(1 + \lambda t) \right)^{m} \frac{1}{m!}$$

$$= \sum_{m=0}^{\infty} \left( \sum_{n=0}^{m} n! S_{2}(m, n) \lambda^{-m} \frac{1}{m!} \left( \log(1 + \lambda t) \right)^{m} \right)$$

$$= \sum_{m=0}^{\infty} \left( \sum_{n=0}^{m} n! S_{2}(m, n) \lambda^{-m} \frac{1}{m!} m! \sum_{k=m}^{\infty} S_{1}(k, m) \frac{\lambda^{k} t^{k}}{k!} \right)$$

$$= \sum_{k=0}^{\infty} \left( \sum_{m=0}^{k} \sum_{n=0}^{m} n! S_{2}(m, n) S_{1}(k, m) \lambda^{k-m} \right) \frac{t^{k}}{k!},$$
(2.3)

and

$$\frac{1}{2 - (1 + \lambda t)^{1/\lambda}} = \sum_{n=0}^{\infty} b_{n,\lambda} \frac{t^n}{n!},$$
(2.4)

Therefore, by (2.3) and (2.4), we obtain the following theorem.

**Theorem 2.2.** For  $k \geq 0$ , we have

$$b_{k,\lambda} = \sum_{m=0}^{k} \sum_{n=0}^{m} n! S_2(m,n) S_1(k,m) \lambda^{k-m}.$$

Note that

$$\lim_{\lambda \to 0} b_{k,\lambda} = \sum_{n=0}^{k} n! S_2(k,n)$$
$$= b_n, \ (n \ge 0).$$

By (2.4), we easily get

$$1 = \left(\sum_{l=0}^{\infty} b_{l,\lambda} \frac{t^{l}}{l!}\right) \left(2 - (1 + \lambda t)^{\frac{1}{\lambda}}\right)$$

$$= \left(\sum_{l=0}^{\infty} b_{l,\lambda} \frac{t^{l}}{l!}\right) \left(2 - \sum_{m=0}^{\infty} (1|\lambda)_{m} \frac{t^{m}}{m!}\right)$$

$$= \sum_{n=0}^{\infty} 2b_{n,\lambda} \frac{t^{n}}{n!} - \sum_{n=0}^{\infty} \left(\sum_{l=0}^{n} \binom{n}{l} (1|\lambda)_{n-l} b_{l,\lambda}\right) \frac{t^{n}}{n!}$$

$$= \sum_{n=0}^{\infty} \left\{2b_{n,\lambda} - \sum_{l=0}^{n} \binom{n}{l} (1|\lambda)_{n-l} b_{l,\lambda}\right\} \frac{t^{n}}{n!}.$$
(2.5)

By comparing the coefficients on the both sides of (2.5), we get

$$2b_{n,\lambda} - \sum_{l=0}^{n} \binom{n}{l} (1|\lambda)_{n-l} b_{l,\lambda} = \begin{cases} 1, & \text{if } n = 0, \\ 0, & \text{if } n > 0. \end{cases}$$
 (2.6)

Therefore, by (2.6), we obtain the following theorem.

**Theorem 2.3.** For  $n \geq 0$ , we have

$$b_{0,\lambda} = 1, \quad b_{n,\lambda} = \sum_{l=0}^{n-1} \binom{n}{l} (1|\lambda)_{n-l} b_{l,\lambda},$$

where  $(1|\lambda)_n = 1 \cdot (1-\lambda)(1-2\lambda) \cdots (1-(n-1)\lambda), (n \ge 1), (1|\lambda)_0 = 1.$ 

Example

$$b_{1,\lambda} = b_{0,\lambda} = 1,$$

$$b_{2,\lambda} = \sum_{l=0}^{1} \binom{2}{l} (1|\lambda)_{2-l} b_{l,\lambda} = (1|\lambda)_{2} b_{0,\lambda} + 2(1|\lambda)_{1} b_{1,\lambda}$$

$$= (1-\lambda) + 2 = 3 - \lambda,$$

$$b_{3,\lambda} = \sum_{l=0}^{2} \binom{3}{l} (1|\lambda)_{3-l} b_{l,\lambda}$$

$$= (1|\lambda)_{3} b_{0,\lambda} + \binom{3}{1} (1|\lambda)_{2} b_{1,\lambda} + \binom{3}{2} (1|\lambda)_{1} b_{2,\lambda}$$

$$= (1-\lambda)(1-2\lambda) + 3(1-\lambda) + 3(3-\lambda)$$

$$= 1 - 3\lambda + 2\lambda^{2} + 3 - 3\lambda + 9 - 3\lambda = 13 - 9\lambda + 2\lambda^{2}, \dots$$

From (2.1), we note that

$$\frac{2}{2 - (1 + \lambda t)^{1/\lambda}} (1 + \lambda t)^{\frac{x}{\lambda}} - \frac{1}{2 - (1 + \lambda t)^{1/\lambda}} (1 + \lambda t)^{\frac{x+1}{\lambda}}$$

$$= \frac{1}{2 - (1 + \lambda t)^{1/\lambda}} (1 + \lambda t)^{\frac{x}{\lambda}} \left(2 - (1 + \lambda t)^{1/\lambda}\right) = (1 + \lambda t)^{\frac{x}{\lambda}}$$

$$= \sum_{n=0}^{\infty} {x \choose n} t^n = \sum_{n=0}^{\infty} (x|\lambda)_n \frac{t^n}{n!},$$
(2.7)

and

$$\frac{2}{2 - (1 + \lambda t)^{1/\lambda}} (1 + \lambda t)^{\frac{x}{\lambda}} - \frac{1}{2 - (1 + \lambda t)^{1/\lambda}} (1 + \lambda t)^{\frac{x+1}{\lambda}}$$

$$= \sum_{n=0}^{\infty} \left\{ 2b_{n,\lambda}(x) - b_{n,\lambda}(x+1) \right\} \frac{t^n}{n!}.$$
(2.8)

Therefore, by (2.7) and (2.8), we obtain the following theorem.

**Theorem 2.4.** For  $n \geq 0$ , we have

$$(x|\lambda)_n = 2b_{n,\lambda}(x) - b_{n,\lambda}(x+1).$$

From (1.3), we have

$$\begin{split} \sum_{n=0}^{\infty} b_{n,-\lambda}(-x) \frac{t^n}{n!} &= \frac{1}{2 - (1 - \lambda t)^{-1/\lambda}} (1 - \lambda t)^{\frac{x}{\lambda}} \\ &= \frac{1}{2(1 - \lambda t)^{1/\lambda} - 1} (1 - \lambda t)^{\frac{x+1}{\lambda}} \\ &= -\frac{1}{t} \frac{-t}{2(1 - \lambda t)^{1/\lambda} - 1} (1 - \lambda t)^{\frac{x+1}{\lambda}} \\ &= \frac{1}{t} \sum_{n=0}^{\infty} \beta_{n,\lambda,2}(x+1) (-1)^{n+1} \frac{t^n}{n!} \\ &= \frac{1}{t} \sum_{n=0}^{\infty} \beta_{n,\lambda,2}(x+1) (-1)^{n+1} \frac{t^n}{n!} = \sum_{n=0}^{\infty} (-1)^n \frac{\beta_{n+1,\lambda,2}(x+1)}{n+1} \frac{t^n}{n!}. \end{split}$$

Therefore, by (2.9), we obtain the following theorem.

**Theorem 2.5.** For  $n \geq 0$ , we have

$$b_{n,-\lambda}(-x) = (-1)^n \frac{\beta_{n+1,\lambda,2}(x+1)}{n+1}.$$

Let  $r \in \mathbb{N}$ . Then we define the degenerate ordered Bell numbers which are given by the generating function to be

$$\underbrace{\left(\frac{1}{2-(1+\lambda t)^{1/\lambda}}\right) \times \dots \times \left(\frac{1}{2-(1+\lambda t)^{1/\lambda}}\right)}_{r-\text{times}} (1+\lambda t)^{\frac{x}{\lambda}} = \sum_{n=0}^{\infty} b_{n,\lambda}^{(r)}(x) \frac{t^n}{n!}.$$
(2.10)

When x=0,  $b_{n,\lambda}^{(r)}=b_{n,\lambda}^{(r)}(0)$  are called degenerate ordered Bell numbers. From (2.10), we have

$$b_n^{(r)}(x) = \sum_{l=0}^n \binom{n}{l} b_{l,\lambda}^{(r)}(x|\lambda)_{n-l}, \ (n \ge 0),$$
 (2.11)

and

$$b_n^{(r)} = \sum_{l_1 + \dots + l_r = n} \binom{n}{l_1, \dots, l_r} b_{l_1, \lambda} b_{l_2, \lambda} \dots b_{l_r, \lambda}. \tag{2.12}$$

As is well know, Frobenius-Euler polynomials of order r are defined by the generating function to be

$$\left(\frac{1-u}{e^t-u}\right)^r e^{xt} = \underbrace{\left(\frac{1-u}{e^t-u}\right) \times \dots \times \left(\frac{1-u}{e^t-u}\right)}_{r-\text{times}} e^{xt} = \sum_{n=0}^{\infty} H_n^{(r)}(x|u) \frac{t^n}{n!}. \tag{2.13}$$

Thus, by (2.13), we get

$$\left(\frac{1}{2-(1+\lambda t)^{1/\lambda}}\right)^{r} (1+\lambda t)^{\frac{x}{\lambda}} = \left(\frac{1}{2-e^{\frac{1}{\lambda}\log(1+\lambda t)}}\right)^{r} e^{\frac{x}{\lambda}\log(1+\lambda t)}$$

$$= \sum_{m=0}^{\infty} H_{m}^{(r)}(x|2) \frac{1}{m!} \lambda^{-m} \left(\log(1+\lambda t)\right)^{m}$$

$$= \sum_{m=0}^{\infty} H_{m}^{(r)}(x|2) \lambda^{-m} \frac{1}{m!} m! \sum_{n=m}^{\infty} S_{1}(n,m) \frac{\lambda^{n} t^{n}}{n!}$$

$$= \sum_{n=0}^{\infty} \left(\sum_{m=0}^{n} \lambda^{n-m} H_{m}^{(r)}(x|2) S_{1}(n,m)\right) \frac{t^{n}}{n!}.$$
(2.14)

Therefore, by (2.10) and (2.14), we obtain the following theorem.

**Theorem 2.6.** For  $n \geq 0$ , we have

$$b_{n,\lambda}^{(r)}(x) = \sum_{m=0}^{n} \lambda^{n-m} H_m^{(r)}(x|2) S_1(n,m).$$

**Remark.** For  $r \in \mathbb{N}$ , we have

$$\begin{split} &\sum_{n=0}^{\infty} \left\{ 2b_{n,\lambda}^{(r)}(x) - b_{n,\lambda}^{(r)}(x+1) \right\} \frac{t^n}{n!} \\ &= 2 \left( \frac{1}{2 - (1 + \lambda t)^{1/\lambda}} \right)^r (1 + \lambda t)^{\frac{x}{\lambda}} - \left( \frac{1}{2 - (1 + \lambda t)^{1/\lambda}} \right)^r (1 + \lambda t)^{\frac{x+1}{\lambda}} \\ &= \left( \frac{1}{2 - (1 + \lambda t)^{1/\lambda}} \right)^r (1 + \lambda t)^{\frac{x}{\lambda}} \left( 2 - (1 + \lambda t)^{1/\lambda} \right) \\ &= \left( \frac{1}{2 - (1 + \lambda t)^{1/\lambda}} \right)^{r-1} (1 + \lambda t)^{\frac{x}{\lambda}} = \sum_{n=0}^{\infty} b_{n,\lambda}^{(r-1)}(x) \frac{t^n}{n!}. \end{split}$$

Thus, we note that

$$2b_{n,\lambda}^{(r)}(x) - b_{n,\lambda}^{(r)}(x+1) = b_{n,\lambda}^{(r-1)}(x), \ (n \ge 0).$$

#### References

- L. Carlitz, Degenerate Stirling, Bernoulli and Eulerian numbers, Utilitas Math. 15 (1979), 51–88.
- A. Cayley, On the analytical forms called trees, Philosophical Magazine, Series IV, 18 (121) (1859), 374–378.
- 3. L. Comtet, Advanced Combinatorics: The Art of Finite and Infinite Expansions, D. Reidel Publishing Co., 1974 p. 228.
- Y. He, T. Kim, General convolution identities for Apostol-Bernoulli Euler and Genocchi polynomials, J. Nonlinear Sci. Appl. 9 (2016), no. 6, 4780–4797.
- D. S. Kim, T. Kim, H. I. Kwon, T. Mansour, Powers under umbral composition and degeneration for Sheffer sequences, Adv. Difference Equ. 2016 2016:66, 11 pp
- D. S. Kim, T. Kim, H. I. Kwon, T. Mansour, Degenerate poly-Bernoulli polynomials with umbral calculus viewpoint, J. Inequal. Appl. 2015 2015:228, 13 pp
- D. S. Kim, T. Kim, Umbral calculus associated with Bernoulli polynomials, J. Number Theory. 147 (2015), 871–882.
- 8. T. Kim, D. S. Kim, Some Formulas of ordered Bell numbers and polynomials arising from umbral calculus (communicated)
- T. Kim, T. Mansour, S.-H. Lee, Apostol-Euler polynomials arising from umbral calculus, Adv. Difference Equ. 2013 2013:301, 7 pp.
- T. Kim, T. Mansour, Umbral calculus associated with Frobenius-type Eulerian polynomials, Russ. J. Math. Phys. 21 (2014), no. 4, 484–493.
- 11. T. Kim, D. V. Dolgy, L.-C. Jang, H.-I. Kwon, Some identities of degenerate q-Euler polynomials under the symmetry group of degree n, J. Nonlinear Sci. Appl. 9 (2016), no. 6, 4707–4712.
- T. Kim, D. S. Kim, H.-I. Kwon, J.-J. Seo, Some identities for degenerate Frobenius-Euler nubmers arising from nonlinear differential equations, Ital. J. Pure Appl. Math. 36 (2016), 843–850.
- T. Kim, Identities involving Laguerre polynomials derived from umbral calculus, Russ. J. Math. Phys. 21 (2014), no. 1, 36–45.
- H.-I. Kwon, J.-W. Park, A note on degenerate Changhee-Genocchi polynomials and numbers, Global J. Pure Appl. Math 12 (2016), no. 5, 4057–4064.